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4p for the control valve




ΔP1





R=150 Pa/m; L=1m; ΔP=150 Pa: V=400m3/h





R=150 Pa/m; L=1m; ΔP=150 Pa: V=300m3/h





R=150 Pa/m; L=1m; Δ P=150 Pa: V=200m3/h





R=150 Pa/m; L=1m; Δ P=150 Pa: V=400m3/h





R=150 Pa/m; L=1m; ΔP=150 Pa: V=100m3/h





R=150 Pa/m; L=1m; ΔP=150 Pa: V=200m3/h





R=150 Pa/m; L=1m; ΔP=150 Pa: V=300m3/h





R=150 Pa/m; L=1m; ΔP=150 Pa: V=400m3/h





ΔP2





V=300+ΔV2+ΔV3 m3/h; 150>ΔP=150((300+ΔV2+ΔV3)2/4002)>84  Pa; 150>R>84 Pa/m; L=1m; 








V=100m3/h; ΔV1=0; R=150 Pa/m; ΔP=150 Pa; L=1m;





V=200 ΔV2+ΔV3 m3/h; 150>ΔP=150((200+ΔV2+ΔV3 2)/3002)>67  Pa; 150>R>67 Pa/m; L=1m; 








V=100+ΔV3 m3/h; 150>ΔP=150((100+ΔV3)2/2002)>38  Pa; 150>R>38 Pa/m; L=1m; 








V=0; ΔP=0; R=0; L=1m; 








V=200+ΔV2 m3/h; ΔP=150((200+ΔV2)2/2002))>150  Pa; R>150 Pa/m; L=1m; 








V=300+ΔV2 +ΔV3 m3/h; ΔP=150((300+ΔV2+ΔV3)2/3002))>150  Pa; R>150 Pa/m; L=1m; 








V=300+ΔV2 +ΔV3 m3/h; 150>ΔP=150((300+ΔV2+ΔV3)2/4002))>84  Pa; 150>R>84 Pa/m; L=1m; 








V=100m3/h





V=100m3/h





V=100m3/h





V=100m3/h





V=100m3/h





V=100+ΔV2





V=100+ΔV3








